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12”0509 (K12n0509)

Linearized knot diagam

Solving Sequence

. 2 —> —) -> e —_—> — — — > C C c
A knot d1agrarrE| 7 6 6 39 91001 1 s 5 Ca 4 P 80121261111 —>> €3,€7,C10

Ideals for irreducible component#ﬂ)f Xpar

(— u® + 3u® 6u4—|—7u3—6u2—i—b—|—3u—17 u6—3u5+6u4—7u3+5u2+a—3u,
u” —3ub + 7u® — 10u* 4 10u® — 8u? + 3u — 1)

(=3u™® + 14u' -+ 4b+ 4, u'® —8u'? + -+ 8a— 4, uM — 6ut® + - —28u +8)
(—u? +b+a—1, a>+au+2u® —a+u, v +u>+2u+1)

(—ub —u® —2u* —u® —2u? +b—u—1, u +u’ +2u* +uP +3u® +a+ut2,

u” +u® 4+ 3ud + 2ut 4 4ud + 20 + 3u + 1)

=<—2u2a—au—2u2—|—b—2a—u—4, 2u’a + a® + 2u® 4 3a + 2u + 4, u3+u2—|—2u—|—1>
= (—v?a+2u*+2b+u+3, a® +3u® +3u+2, v’ +u? +2u+1)
I7 =

<u6+u5—|—2u4+u3—|—u2—|—b+u—|—l, —2u” —2uS —5u® —3u* —3ud —3uP +a—4u—1,
u® +u” 4 3u8 + 2u° + 3ut + 20 + 3u +u+ 1)

* 7 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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L I* = (—u® 4 3u® — 6u* + Tu® — 6u® + b+ 3u — 1, u® — 3u® + 6u* — Tud +
5u? + a — 3u, u” — 3u® + 7Tu® — 10u* + 10u® — 8u? + 3u — 1)

(i) Arc colorings
0
a2 = u
a7 =
ag —

az =

u® 4+ 3u® — 6ut + Tud — bu? + 3u
ub — 3u® +6ut — Tud +6u —3u+1
—ub 4+ 2ud — du* + 4u® — 3u? + 2u
aip = —ud —u
—ud 4+ 2ut —3ud +3u —u+1
—ub + 3w — 6ut + Tud — 6u? +3u—1
—ub + 2u® — 4u? + 4u® — 3u? + 2u
—uS +3ud —6ut +Tud —6u? +3u—1

—u6+2u5—4u4+4u3—u2+u+1)

—u?

u52u4+4u34u2+2u1>
u

w? —2ut 4w — 4wt +u—1
ail = U

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u’ — 8u® + 20u* — 32u3 + 36u? — 30u + 5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 o’ + 5u8 4+ 9u® — 2u* — 2403 — 240% — Tu — 1
€2, €6, C7 u” — 3uS + Tu® — 10u + 10u® — 8u® 4 3u — 1
C11
€3,¢s,C8 u” 4+ 5u8 4+ 8u® + 4ut + 2u® + 5u® + 3u+ 1
cy
C4,C12 o’ —ub — 8u® + 5ut + 21w 4+ 140 + 4u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, €10 y" — Ty + 53y° — 210y* + 364y> — 244y% +y — 1
o YT+ 5y° +9y° — 2y* — 249° — 249% — Ty — 1
C11
€3:¢5, €8 y"—9y® +28y° — 28y  +2° —21y° —y — 1
Co
€4, C12 y" —17y°% + 11635 — 325y + 2393 — 38y% — 12y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

u =

0.136302 + 1.1377301

a = —1.052660 + 0.1650881

b:

0.776815 + 0.1450621

—4.44698 4- 2.330741

—9.82174 — 3.805071

0.136302 — 1.1377301

= —1.052660 — 0.1650881

0.776815 — 0.1450621

—4.44698 — 2.330741

—9.82174 + 3.805071

1.24390
0.333091
2.21419

—11.4456

—6.73760

0.194340 + 0.4639861
0.726250 + 0.4932711
0.096235 — 0.3129291

—0.189704 + 0.9627531

—3.67202 — 7.068001

0.194340 — 0.4639861
0.726250 — 0.4932711
0.096235 + 0.3129291

—0.189704 — 0.9627531

—3.67202 + 7.068001

0.54741 + 1.456001
1.65987 + 0.821951

—2.48014 + 0.772111

18.5842 + 12.76301

—10.63743 — 5.465141

U
a
b
U
a
b

0.54741 — 1.456001
1.65987 — 0.821951

= —2.48014 — 0.772111

18.5842 — 12.76301

—10.63743 4 5.465141




(—3u'3+14u'?+. .. +4b+4, u'®—8u'?+...+8a—4, u*—6u'3+

(i) Arc colorings

o ()

1
a7 = 0
1
a6 — u2
u
a3 = \uyd+u
(éu13+u1
aqg = § 1371
9 ¢ 2
—éulg—l—
ag = _1“13 +
u3
a1 = \uP+ut+u
%u13—u12—|—
as = Zu13 w2 4
%um —oul? 4
ay = iu13 ul2 +
( 5,13
8
ag = \ _1
8 2
—§u13+u12+
a1 = %ul?, — A2 4
7

(ii) Obstruction class = —1

II. 1%

.+ .—28u+8)

(iii) Cusp Shapes = —2u!'3 + 12u!? — 43u!! + 105u'? — 1961 + 295u® — 375u” +

414u® — 395u® + 319u* — 217u® + 130u? — 70u + 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u™ + 8u' + .- + 240u + 64
C2,Cq, C7 u14—6u13+--~—28u+8
C11
€3,C5,C8 (u7 —oub — 300+ Tut — 32 + 1)2
C9
C4,C12 Wt =20 4 15u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
14 12
C1,C10 Yy o472y " 4+ - - + 13056y + 4096
@Oyt 8y 4 240y + 64
C11
€3,¢s,C8 (y" — 1095 + 37y° — 61y* + 463> — 23y* + 6y — 1)?
Cg
Cy4,C12 y14—24y13+---—53y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

0.625244 + 0.6346551
= 0.339092 + 0.3519807 0.091886 + 0.8913301 | —6.03895 — 5.746621
= 0.233020 — 0.0220621

= 0.625244 — 0.6346551
= 0.339092 — 0.3519801 0.091886 — 0.8913301 | —6.03895 + 5.746621
= 0.233020 + 0.0220621

= —0.378126 + 1.0625001
= —1.121480 — 0.0776601 | —1.03722 —4.171041 | —10.56067 + 2.182981
= 0.404958 + 1.3288701

= —0.378126 — 1.0625001
= —1.121480 4+ 0.0776601 | —1.03722 +4.17104] | —10.56067 — 2.182981
= 0.404958 — 1.3288701

0.643460 + 1.0097901
= —0.104502 — 0.6431581 | —1.03722 +4.17104] | —10.56067 — 2.182981
0.260752 — 0.097466.1

0.643460 — 1.0097901
= —0.104502 + 0.6431581 | —1.03722 —4.171041 | —10.56067 + 2.182981
= 0.260752 + 0.0974661

= 1.204680 + 0.0692371
= —0.311651 — 0.0476911 —16.0632 + 6.54631 —8.56192 — 3.002061
= —2.19150 + 0.084431

1.204680 — 0.0692371
—0.311651 + 0.0476911 —16.0632 — 6.54631 —8.56192 + 3.002061
—2.19150 — 0.084431

—0.321436 + 0.7222111
= 1.113680 + 0.1621581 0.091886 + 0.8913301 | —6.03895 — 5.746621
0.125852 — 0.8718971

—0.321436 — 0.7222111
= 1.113680 — 0.1621581 0.091886 — 0.8913301 | —6.03895 + 5.746621
= 0.125852 + 0.8718971

> Q@ €|l & €| & €| & €| & | & 8| & 8|l & 8|l & €| & g
I




Solutions to I3

V=1(vol + v=1C)

Cusp shape

0.63252 + 1.425441

u =

= 1.28836 + 1.020597 19.2127 —10.67691 4+ 0.1
= —2.20148 4 0.657821
= 0.63252 — 1.425441

1.28836 — 1.020591 19.2127 —10.67691 4+ 0.1

—2.20148 — 0.657821

0.59366 + 1.464721
—1.45351 — 0.868821
= 2.36839 — 0.764611

—16.0632 + 6.54631

—8.56192 — 3.002061

= 0.59366 — 1.464721
= —1.45351 + 0.868821
= 2.36839 4 0.764611

> Q@ 2| @ €|l & €|l 9
Il

—16.0632 — 6.54631

—8.56192 + 3.002061
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L Iy = (—u?*+b4+a—1, a*>+au+2u? —a+u, v*> +u? +2u+1)

(i) Arc colorings

o= (1)

a7 =
ag =
az =

ag = (
wa+au+2a—u—1
ajp = w4+ u+1
—u?—2u—1
u? + 2u
watau+ui+a—u
—u?+a—1

wa+au+2a—u—1
—u?+a-—1

uzaau+3u2a+3u+2)

a2 =
u?a+u?—a—2u—1
ail = u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u? + 8u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10 (u® + 3u® +2u — 1)?
€2, C6, C1 (W +u® + 2u+ 1)
C11
€3,C5,C8 wl +ud —2u* +5ud + 140 — 8
C9
C4,C12 uw® — 4u® — 3ut + 140> + 14u® + 2u — 1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
¢1, €10 (v° —5y* + 10y — 1)?
2,6, €7 (y> +3y* +2y — 1)°
C11
€3:¢5, €8 y® — 5y® + 225" — 97y + 228y — 224y + 64
cy
C4,C12 y® — 229 + 149y — 266y° + 146y — 32y + 1
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Solutions to I§

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.215080 + 1.3071407
a = —1.276330 — 0.3943371
b= 0.613967 — 0.1679431

—10.98310 — 5.656241

—13.0195 + 5.95891

u = —0.215080 + 1.3071401
a= 249141 —0.912801
b= —3.15376 + 0.350521

—10.98310 — 5.656241

—13.0195 + 5.95891

u = —0.215080 — 1.3071401
a = —1.276330 + 0.3943371
b= 0.613967 + 0.1679431

—10.98310 + 5.656241

—13.0195 — 5.95891

u = —0.215080 — 1.3071401
a= 2.49141 + 0.912801
b= —3.15376 — 0.350521

—10.98310 + 5.656241

—13.0195 — 5.95891

u = —0.569840

a= 151738 —2.70789 0.0390210
b= —0.192667
u = —0.569840

a= 0.0524558 —2.70789 0.0390210
b= 1.27226
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IV. I} =(—u® —vw® —2u* —u® — 20>+ b—u—1, v +u’ +2u* +u® +
3u?+a+u+2, u” +ub + 3ud + 2ut + 4u® + 2u? + 3u + 1)

(i) Arc colorings
0
a2 = u
a7 =
ag —

az =

[=2]

—uS —wd =2t — P -3t —u—2
W +2ut+ud+ 20 +Fu+1
u62u43u22>

2uS +ul +4ut +u +5u 4+ u+3
—uS — S -2t — P -2 —u—1
ub + 2ut + 3u? + 2
—uS—wd -2t -t -2t —u—1
u6+2u4+3u2—u+1)
2

—Uu

W+ 2P +3u—1
ail =

—Uu

u5+2u3+2u1>

(ii) Obstruction class =1

(iii) Cusp Shapes = 2uS — 4u3 — 4u? — 2u — 11
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u” — 5u® + 13u® — 22u* + 24u® — 16> + 5u + 1
Co,C7 w —ul + 3w —2ut + 4w — 202+ 3u—1
c3, Cg w4+ ub — 4w — 4wt + 60+ 30— 3u+1

¢4 u” Fub —ut 4+ 3ud — 4u? 20— 1
cs5, Cy w —ub — 4w+ 4wt + 60— 3w —3u—1
Cg, C11 w4+ ub + 3w 2t + 4+ 202 + 3u+ 1
C12 W — w30+ 4+ 2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C10 y" + 8 —3y° — 10y* + 12¢3 + 282 + 57y — 1
o y"+5y° + 13y° + 22y + 24y° + 167 + 5y — 1
C11
€3,¢s,C8 Y7 — 9y5 + 36y° — 76" +82y° — 372 + 3y — 1
cy
C4,C12 y7—y6—|—8y5—|—11y4+3y3—6y2—4y—1

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u= 0.537424 4 0.9629271
a = —0.662429 — 0.173919] | —0.10098 + 4.465231 | —0.57946 — 5.518331
b= 10.300834 — 0.8610811

u = 0.537424 — 0.9629271
a = —0.662429 4 0.1739197 | —0.10098 — 4.465231 | —0.57946 + 5.518331
b= 10.300834 + 0.8610811

u = —0.132251 4 1.2138607
a= 192214 -0.711311 —10.69670 — 3.596761 | —12.51315 + 1.738581
b= —1.46616 + 1.032381

u = —0.132251 — 1.2138601
a= 192214+ 0.711311 —10.69670 4 3.596761 | —12.51315 — 1.738581
b= —1.46616 — 1.032381

u = —0.723592 + 0.9975721
a = —0.752025 4 0.832832] | —3.82765 — 5.644201 | —9.10487 + 5.574241
b= 0.223589 4 0.6108381

u = —0.723592 — 0.9975721
a = —0.752025 — 0.832832] | —3.82765 + 5.644201 | —9.10487 — 5.574241
b= 0.223589 — 0.6108381

u = —0.363162
a = —2.01537 —3.64806 —10.6050
b= 0.883481

18



V. Ig =
(—2u?a—au—2u?+b—2a—u—4, 2u?a+a?+2u?+3a+2u+4, ud+u?+2u+1)

(i) Arc colorings

e ()

= (o)
o= ()
as = < u? —u—1>
a
a9 = \2ula+au+2u?+2a+u+4
ua+au7u +a—1
wla+ au +u? +2a+2
—u? —2u—1
ap = u? 4 2u
wla+4u® +2a+2u+7
as = \ —u?aq —2u® —2a —2u—4
% +3
s = \ —y?aq—2u? —2a —2u—4
4dula + 2au + 8u? + 8a + 3u + 14
ag = wa+ 2w +a+u+4
wa+u?+2a+1
a12 = \2u?a+au+3ui+3a+u+5

—u?a—au—2u?—a—u—4
a11 = \2ufa+au+3ui+3a+u+5
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u?a + 4au + 8u? + 8a + 4u + 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10 (u® + 3u® +2u — 1)?
€2, C6, C1 (W +u® + 2u+ 1)
C11
€3, Cy, C12 (u® —u? — 4u +5)?
¢4 ub 4 u® + 6ut — 3u® + 10u® + 8
cs, C8 (u3 +u?— 1)2

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
Cc1,C10 (y3 — 5y2 =+ 10y — 1)2
2,6, €7 (y> +3y* +2y — 1)°
C11
C3,Cg, C12 (y3 - 9y2 + 26y — 25)2
Ca y® 4+ 11y° + 62y* + 127y° + 196y + 160y + 64
cs, Cs (v’ —y* +2y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I Vv—1(vol +/—1C5) Cusp shape
u = —0.215080 + 1.3071401
a= 0.824718 — 0.424452] | —6.84548 — 2.82812] —6.49024 + 2.979451

b= —0.732199 + 0.9867321

u = —0.215080 + 1.3071401
—0.50000 + 1.549011 —10.9831 —13.01951 4 0.1
b= 0.94728 —2.293871

u = —0.215080 — 1.3071401
a= 0.824718 + 0.424452] | —6.84548 + 2.828121 —6.49024 — 2.979451
b= —0.732199 — 0.9867321

u = —0.215080 — 1.3071401
a = —0.50000 — 1.549011 —10.9831 —13.01951 4- 0.1
0.94728 + 2.293871

—0.569840
—1.82472 4 0.424451 —6.84548 — 2.828121 —6.49024 + 2.979451
0.284920 + 0.8826891

—0.569840
= —1.82472 — 0.424451 —6.84548 + 2.828121 —6.49024 — 2.979451
= 0.284920 — 0.8826891

b
U
a
b
U
a
b
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VL I} = (—u?a+2u?+2b+u+3, a®> +3u?+3u+2, v +u?>+2u+1)

(i) Arc colorings
0
a2 = u
a7 =
ag =
as =

ag =

as = —2u2 —u—2

u%—l—%au—l—%a—l—%u—l
—2uZ —u—2

u2a+§au+2u2+ga+§u+l>

ay4 =

(
(
(
(
( 2
(
(
(
(

= \ guitgat;
%au + %uQ + %u + S)
12 = %u2a—|— - %u— 5
(—%uza + %au + %uQ —a+2u+ 2)
ann = %uza—i—a—%u—%
(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u?a + 2u® + 2a + 2u — 6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10 (u® + 3u® +2u — 1)?
€2, C6, C1 (W +u® + 2u+ 1)
C11
3, Co (u? 4+ u? — 1)?
C4,Cs5,C8 (u® —u? — 4u +5)?
C12 u® +ud +6ut — 3ud + 10U + 8
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1, C10 (y3 — 5y2 + 10y — 1)2

2,6, €7 (y> +3y* +2y — 1)°
C11

€3, ¢ (v* —y* +2y—1)°

C4, Cs5, C8 (y® — 9y* + 26y — 25)2
6 5 4 3 2
c12 Yo+ 11y° + 62y~ + 127y° + 196y~ 4 160y + 64
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(vi) Complex Volumes and Cusp Shapes

Solutions to I Vv—1(vol +/—1C5) Cusp shape
u = —0.215080 + 1.3071401
a= 1.98708 —0.56228] —10.9831 —13.01951 4+ 0.1

b= —1.53980 — 0.182581

u = —0.215080 + 1.3071401

a = —1.98708 + 0.562281 —6.84548 — 2.828121 —6.49024 + 2.979451
b= 2.07960

u = —0.215080 — 1.3071401

a= 198708 + 0.562281 —10.9831 —13.01951 4 0.1

b= —1.53980 + 0.182581

u = —0.215080 — 1.3071401

a = —1.98708 — 0.562281 —6.84548 + 2.828121 —6.49024 — 2.979451
b= 2.07960

u = —0.569840

a= 1.1245601 | —6.84548 — 2.828121 —6.49024 + 2.979451
b= —1.53980 + 0.182581

u = —0.569840

a= — 1.1245601 | —6.84548 + 2.828121 —6.49024 — 2.979451

b= —1.53980 — 0.182581
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VIL I = (u 4 v+ 2u +u +u? + b+ u+1, —2u” —2u8 + ...

1, u® +u” + 3ub + 2u® + 3ut + 2u® + 3u? +u + 1)

(i) Arc colorings

o ()

a7 =
ag —
az =

—uw - -t -t -t —u—1

2u7+2u6+5u5+3u4+3u3+3u2+4u+1)
w4+ ub + 208 +ut +ud +u? + 2u )

(
(
(
(
aio = (—u7 —2u8 — 3u® — 4u* — 2u3 — 3u® —2u —2
(
(
(
(
(

6 3 2 2

2u” + 3ub + 6u® + 5ut + 5ud + 4u? + 6u+3
—ub —u® —2ut —ud —u? —u—

2u” + 2u8 + 5u® + 3ut + 4w + 3u + Su+1
—ub - -2t — P -t —u—2
—3ub —2u® —Tu* —3ud —b5u? —3u—>5
—u =2+ ut— WUt —u+2
2" — b — 4w —ut — 2P — w2 —3u+1
w +ul +3u+2ut +3u +2u2+3u+1
—3u” — 2u8 — Tu® — 3u* — 5ud — 3u? — 6u
a1 = \u" +ul + 3P +2ut +3ut + 202 +3u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —u” — 4u® — 5u° — 10u* — 7Tu® — Tu? — 5u — 14

27
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 u® —5u” + 11w — 16w® + 19u* — 16w + 11u? — bu + 1
Ca,C7 w— w4+ 3uS — 20 +3ut — 20 + 3 —u+1
c3,C8 (u* — u® — 2u? —|—2u—i—1)2
4 u® —4u” +5u’ —ud —ut — P+ 4u® - 3u+t1
Cs, Cy (u4—|—u3 — 22 —2u—|—1)2
Cg, C11 W+ 3+ 20 +3ut + 20 + 3 +u+ 1
C12 W a +5u 4+ — P 4 +3u+ 1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c1o y® —3y" — 8 + 2497 + 43yt +249° — 2 — 3y + 1
€2, 6, €7 y® +5y7 + 11y° + 16y° + 19y* + 16y° + 11> + 5y + 1
C11
€3,Cs5, C8 (y* — 5y® +10y* — 8y + 1)?
Co
C4,C12 y® —6y" +15y5 —11° + 17y — 52 + 82 —y+ 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u= 0.589362 + 0.8078691
a= 0.618883 —0.3145771 0.398187 —4.14403 4+ 0.1
b= 0.500000 + 0.6853761
u= 0.589362 — 0.8078691
a 0.618883 + 0.3145771 0.398187 —4.14403 4+ 0.1
b= 0.500000 — 0.6853761
u = —0.756438 + 0.6540657
a= 0.313901 — 0.8429561 | —2.83064 —8.01125 4+ 0.1
b= 0.500000 — 0.4323321
u = —0.756438 — 0.654065]
a= 0.313901 + 0.8429561 | —2.83064 —8.01125 4 0.1

0.500000 + 0.4323321

= —0.112930 4+ 0.7075151
—0.42892 + 2.194021
—0.779254 — 0.5551271

—8.65338 4 2.527421

—12.42236 — 1.868581

—0.112930 — 0.7075151
= —0.42892 — 2.194021
—0.779254 4+ 0.5551271

—8.65338 — 2.527421

—12.42236 4 1.868581

—0.219994 + 1.3782801
= —1.50387 + 0.551241
1.77925 — 0.555131

—8.65338 — 2.527421

—12.42236 4 1.868581

—0.219994 — 1.3782801
—1.50387 — 0.551241
1.77925 + 0.555131

b
U
a
b
U
a
b
U
a
b
U
a
b

—8.65338 4 2.527421

—12.42236 — 1.868581
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Crossings

VIII. u-Polynomials

u-Polynomials at each crossing

C1,C10

(u? + 3u® 4 2u — 1)%)(u” — 5ub + -+ + 5u + 1)

(u” + 5ub + 9ud — 2ut — 240 — 240% — Tu — 1)

(u® = 5u” + 110 — 160’ 4 19u? — 166> + 11u? — 5u + 1)
(utt 4 8ut® - 4 240u + 64)

C2, C7

(ud +u? +2u+ 15 (u” — 3u® + 7u® — 10u* + 10u® — 8u? + 3u — 1)
(u" = u® 4 30 — 2ut 4w — 20 + 3u—1)

S(u® —u” 38 — 20 4+ 3ut — 20 4+ 3u? —u 1)

S(ut = 6ut 4 —28u + 8)

C3,C8

(u® —u? — du + 5)%(u® + u? — 1) (u* — u® — 2u® + 2u + 1)?

(u® +u® — 20t + 5ud + 14u? — 8)(u” — 2u® — 3u® + Tut — 3u? +1)?
S(u” 4+ ub — 4’ — dut 4 6u 4 3u? — 3u+ 1)

(u” 4 5u® 4 8u® 4 4ut + 203 + 5u® + 3u+ 1)

Cq

(u® —u? —4u +5)%(u® — 4u® — 3u® + 14u® + 14u? + 2u — 1)
(u® + u® + 6u* — 3u® + 10u® + 8)

~(u7—u —8u® + 5ut + 21u® + 140* + 4u + 1)

(u” Fu® —ut 430 — 4w F2u—1)

(u® = 4"+ 5ub —ud —ut —ud +du® — 3u+ 1)

S(utt —2u 4 4 15u 4 1)

Cs5, C9

(u® —u? — 4u +5)*(u® +u? — 1)2(u* +u® — 2u® — 2u+1)?

(ul 4w = 2ut + 5ud + 14u? — 8)(u” — 2u® — 3u® + Tut — 3u? +1)?
(U —u® — 4P + 4t 4 6u® - 3u® — 3u— 1)

(" 4 5ub 4 8u® + 4ut 4 2ud + 5u® 4 3u + 1)

C6,C11

(u® +u? + 2u + 1)%(u” — 3u® + 7w’ — 10u? + 10u® — 8u? + 3u — 1)
(u” Hu® 30+ 2ut 4 4u® 4 20 4 3u 1)

(u® 4+ u” 4 30+ 208 + 3ut 4 20 + 3u? +u 1)

S(u —6ud - — 28u + 8)

C12

(u® —u? — 4u + 5)*(u® — 40 — 3u® + 14u® + 140u* + 2u — 1)

(u® +u® + 6ut — 3u® + 100 + 8)(u” — ub +ut 4+ 3uP 4 4u? +2u + 1)
(u” = u® = 8u® + 5ut + 21ud + 140 + 4u + 1)

c(u® a4 5ul +ud —ut w4 F 3u 1)

S(u —2u" 4 4 15u 4 1)
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IX. Riley Polynomials

Crossings Riley Polynomials at each crossing

(y* = 5y® + 10y — 1)°

Y — 7y + 53y — 210y* + 364y> — 244y +y — 1)
y' + — 10y* + 12> + 28y + 57y — 1)
y8—3y — 0 +24y + 43yt 4 249 — 9% — 3y + 1)
y' 729" - 13056y + 4096)

C1,C10

(
(
(
(!

(2 + 3y 4+ 2y — 1)°(y7 + 595 + 9y° — 2% — 249 — 249 — Ty — 1)
(y" + 5y°® + 13y° + 22y + 2497 + 169 + 5y — 1)

(y® +5y" + 119° +16y° + 19y* +16y° 4+ 11y + 5y + 1)
Syt + 8y" + -+ 240y + 64)

C2,Cq, C7

C11

(y* = 9y° + 26y — 25)°(y° —y* + 2y — 1)°
(y* = 5y* +10y* — 8y +1)2
(Y8 — 5y® +22y* — 97y3 + 228y% — 224y + 64)

C3,C5, C8 (
(

(y" = 10y° 4+ 37y° — 61y* + 46y — 23y + 6y — 1)?
(
(

C9

(" —9y°® +28y° — 28yt + 23 — 21y% —y — 1)
(" — 9y°® + 36y° — 76yt + 82y — 37y% 4+ 3y — 1)

(y> — 9y + 26y — 25)°
(yS — 225 + 149y* — 266y> + 146y* — 32y + 1)
€4, €12 6 5 4 3 2
(g0 + 1135 + 62y + 12797 + 196y + 160y + 64)
(y" — 17y5 + 116y° — 325y" + 239y° — 38y% — 12y — 1)
(y" =y 48y 4 11yt + 3y — 6y? — 4y — 1)
S(y® = 6y" +15y° — 1197 + 17yt — 5y + 8y —y + 1)
Syt =24y 4+ = B3y + 1)
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